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KHET 58 62 120 70
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BA R 343 330 673 318
FA R HET 89 117 206 114
FLETE 96 75 171 100
fE./ =HT 32 52 84 50
2DOLME 46 70 116 79
SEhE 551 535 1,086 466
[LZEHT 185 219 404 212
BERAHER/RKES 224 180 404 147
TR EE 4441 4,591 9,032 4,409
R F0 (24B8%)
T HNET 12 21 33 16
Z =M 35 61 96 43
T EHT 44 55 99 45
il 61 65 126 65
SFHT 86 97 183 81
Y EmET 125 124 249 145
FIATHHET 590 548 1,138 544
BRAHT 51 58 109 61
[P N ) 174 164 338 194
FAANHT 85 97 182 100
L ARET— X 150 147 297 151
RHE 228 220 448 238
[ ¥ 152 155 307 165
L ARET X 208 226 434 223
T&E 317 343 660 293
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PE 125 123 248 122
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EI==Rs 515 500 1,015 518
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ITHROEE 5033 5,181 10,214 4,992
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HiE 55 64 119 58
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KA 553 494 1,047 531
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BFR 233 249 482 236
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RharE 83 97 180 78
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E/INEy R 110 104 214 111
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HITE 771 759 1,530 713
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T ERETETE 848 839 1,687 801
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FH 129 149 278 121
R EFHT 295 294 589 277
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K ILIET 138 124 262 92
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T ¥ 89 96 185 99
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=331 163 165 328 143
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TBRREOE 312 363 675 327
2= (13BAR

ai5 53 54 107 55
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=1 74 80 154 76
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T (1BA=R)

T 748 258 1,006 999
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[HTHETO&E 32654 32,856 65510 31,910

|B =FNHET
%R (6BAR

HRT— 106 107 213 114

ZRERTZ 49 47 96 64

IR 118 128 246 115

=Y 34 29 63 35

RiF 47 53 100 61

N 101 109 210 101
TR EE 455 473 928 490

MR CISPE

8/13 N—2



HETBEXE B % 8§ MHEHK

FiEE VN 10 10 20 14
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hnF 3 3 6 3
TRROEE 239 258 497 288
[BEHETD & & 1,472 1,488 2,960 1,646

IR R A EFHET

THRAE (1718A=
= 14 13 27 12
i AR 11 12 23 14
GERE] 14 15 29 19
B 12 12 24 14
mE 14 17 31 17
EH 14 15 29 19
/N 6 9 15 13
il 72 75 147 67
FHH 61 71 132 62
THET 59 72 131 61
LHT 38 49 87 40
B 23 30 53 22

913 N—2



HETBEXE B % 8§ MHEHK

B 37 28 65 27
[] 97 107 204 107
LFIR 27 27 54 26
PR 14 11 25 12
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KA 15 25 40 18
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Gilkdss 38 38 76 45
ER 10 10 20 12
LR 4 4 8 5
NE 27 37 64 36
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